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Instructions

1} All questions are compulsory. .

i) This question paper has two sections ‘A’and ‘B’

) Section ‘A’ contains 20 multiple choice type questions of | Mark
each that has to be answered on OMR Answer Sheet .b}’ dar kﬁm”ﬁ
completely the correct circle with blue or black ballpoint pen.

iv)  After giving answer on OMR Answer Sheet do not cut or use Craser,
whitener etc. _

v]  Section ‘B’ contains descriptive type questions of 50 marks.

vi) Total 5 questions are there in this section.

vii) In the beginning of each question it has been mentioned how many
parts of it are to be attempted.

viii} Marks allotted to each question are mentioned against it,

ix) Start from the first question and go up to the last qucst:on Do not
waste your time on the question you cannot solve.

x) If you need place for rough work, do it on the left page of your
answer book and cross ( x ) the page. Do not write any $olution on
that page.

xi) Do not rub off the lines constructed in a question of construction.
Do write the steps of construction in brief, if asked.

xif) Draw neat and correct figure in solution of a question wherever it

is necessary, othermse in its absence the SDIUUOH will be treated
incomplete and wrong.

qug - H
Section - A
( Tfaswedry 79T )
( Multiple Choice Type Questions )
1. 9g% 3x® +5x+2 % YAH F dmper @M

5 5
A -3 B -3
€) -5 (D) 6 . 1
1. The sum of zeroes of the polynomial 3x2 +5x + 2 will be
5 5
@ -3 ®) -3
(C) -5 (D) 6 | 1
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HAFRTN 2x 4 gy, 3 8221
TRl g, 2
X~5y =7 g $1 oft ga 4@ @m, AR o @1 7

(Al -TR
10 ®) 3
10
© -2
o !
| 3
There will be nq solut:
Htion of th i = - =7 if
the value of q iq € equations 2x+ay=1 and 3x-5y ]
_3
w -5 B 3
10
. _10
(C] __3‘ 10
D = 1
Tt 22 - |
XHESX44 =0 % e ) g
(A e ek w B) It
(©) e 3R v (D) aTafs Td I
The nature of roots of the equation 2x? +5x+4 = 0 will be
(A) - rational and equal (B) irrational
{C] rational and unequal () not real

4. WA AR 4,9, 14, ..., 254 T FA W 10 & w2 B
(A) 208 a (B) 204
(C) 209 (D) 214

4. 10th term from the end of the AP. 4,9, 14, .__, 254 will be

(A4) 208 . (B) 204 |
' - (D) 214 1
€ 209 - | o) . |
5000"54 : [ Tum over
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5 e e 1 O &1 TR S S I 7w
5. ) 5
2-5 @l
80° | |
‘B a3uft CE F
(A) AABC ~ ADEF (B)  AABC ~ AEFD
(C) AABC ~ AEDF (D) ¥H @ wsft

5. In the figure, there is a pair of similar triangles. Its correct symbolic

- expression will be

A D
2'5 cm 5 cIm 80° 6 cm
80°
B C

3 cm E F

(A) AABC ~ ADEF (B) AABC ~ AEFD
(G AABC ~ AEDF (D) Allof these 1
6. fag(-3,-4)% qofeg A 0 ot
Aa) -3 B -4
© s (D) 6 : !
6.  Distance of the point (- 3, - 4 ) from origin will be
(A) -3 B) -4
(C) S (D) 6 -
_3
7. AR cotA=ZT AN sec 4 1 A M
4
A 3 S
: B B 7
© = , 5 1
_ B) 3
5000/54
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3
7. If cotA= 2 then ¢
© Value of sec A will be
4
A) = -
3 ® 2
3
e =
S B 2 I
8. TR tana = sin @ 3
A) 0°
(C! 600 (B) 45°
© . (D) 90° : 1
8. Iftana=sina then the value of o will be _
U_ﬂ
A B) 4s°
(C] 60 [D] gQ° 1
9. ﬁ%ﬁmmaﬁfﬁwﬁm 1: V3 81 g 1 35 o1 gom
(A)  30° - (B) 45°
(C) 60° (D) 90° 1
9. If the ratio of the length of a rod and its shadow is 1:43, the elevation
angle of the sun will be
(&) 30° (B) 45°
| (C) 60° (D) 90° 1
10. T g0 % = & Rl woEieh e e Yenedt ) e e
& o ® 1
© 2 - (D) 3Fq 1
'10. Number of parallel tangent lines drawn to the end points of the diameter
of a circle will be . '
&) o B) 1 |
© 2 _ (D) infinite _ 1
1. 12 ¥ B At o 90 % 60° % 1 I rowvs 1 Qe g
2
@) 18x a2 (B) 20x &t |
30x a2 1
(C) 24x @vt? () P
500054 ' T over
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Pl

The area of the sector of & circle whose angle is 60Q°
will be

and radius 12
Cm

(A) 187m cm? B) 207 cm?
(@) 24n cm? (D) 307 cm?
12, 9 o et &1 = 4 R @ IR A B
w3e @ g
© e @) Zg
12.  If diameter of a sphere is d then its volume will be
& Zd° ® Ld
@ Fa D) Zg
13. r Bowm % o= 3w IS 1 Hor it AFwe B
(A) %n# B) 2nr2
(C) 3mr? (D)  4nr?
13.  Total surface area of a solid hemisphere with radius r will be
(A) %ﬂ"2 (B) 2nr?
e 3nr? (D) 4nr2
14.  Pretfeligs arawer anoh & wiem @ am
E‘ﬁ“m 0-5 | 5-10 |10-15|15-20|20-25
ST 4 6 5 8 2
A) 0-5 B) 5-10
(©) 10-1s D) 15-20
5000/54
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T5-15]15-20|20-25
5 8 2 .
() 10-15 (B) 5-10 |
C (D) 15-20
15. Topdl SRARAT HwRoft
%Wm‘"ﬁimmz 27 3i 20 ¥ A FEH TETH G
(A) 28
(B) 31
(C) 33 |
' D) 35
> T:e n-lean and median of a frequency table are 27 and 29 respectively.
Then its mode will be
A28 (B) 31
(G) 33 o 35 . 1
16. Trmaterftga aroft B
'aﬁﬂ.aii'[”’ 0-10 [ 10-20 | 20-30 | 30-40
ARl 2 1 4 3
%1 ALY B
A 21 . (B) 23
(C) 25 (D) 26 1
16. The mean of the following pablc
Class-interval | 0-10 10-20 | 20-30 | 30-40
4 3
Frequency 2 1
-will be 1 -
n (D) 26 : 1
(C) 25 o |
17. w sftad § 53 FHAR ekl 5"'?**” 5
6 B 7
A) = _
7 ) 1
D) =
(C] 7 [ Turn over
7
5000/54
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17. The probability of 53 Mo
B 2
A & 7
7
2 (D) -%
(C) Z | 1
18. 2 Pyl @ s 2020 F g0 W%aﬁ“mﬁqwml
B 1
(A) 3{:135 B) 366
2
D =
(C) 3% (D) 368 |
18.

Two friends were born in 2020. Find the probability that the date of birth

of them will be same.

1 1
2 _2_
@ 5 B 355 - 1
19. ARl (2,3) (e, HFTTRG AN
A) 2 B) 3
© 2V2 O 2/3 !
19.  The distance between the two points ( 2, 3) and ( 4, 1 ) will be
A) 2 B 3 | N
€ 22 (D) 2V3 ”‘ ¥
20. T=fafa § smfely g anf |
Ay V25 B) Bl
5 _
© 3 D) * 5+v2 - !
20. Irrational number in the following wi-ll be
(A) V25 ®) V81
5 . | | -
© 3 (D) 5+42 | .
5000/ 54
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Qs - g

Section - B

( Deacriptive questions )

822(HY)

(a) ﬂﬁamﬁwm%gm@ma@ﬂmﬁmg:ﬁ%amaﬁ

= §a i

2

(b) 7} cot2A = tan(A 22°) ﬁgg:ﬁﬂﬁm%ﬁﬁﬂmmwl 2
(© Toe HRT 2 T i v 3

2

(d) ﬁmﬁfﬁgaamhm:rﬁmmm 2

E‘ﬁ - T 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
TR 7 | 8 5 20 13 7

(e) TouTd THIHWT 4x2 +9x+5=0 ¥ Yot Ta HIAYY 2

() 1%%3@8%@3&@9@%%:@@3% 2

1. Do all the parts :

(ay” If the difference of two numbers is 26 and one number be three times

of other then find the numbers. https://www.upboardonline.com 2

() If cot2A = tan(A -22°), where 24 is an acute angle then find the

value of A. 2
{c) Prove that .JE is an irrational number. 2
(CP/Find the median of the following table : o
Class-interval 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60
Frequency 7 8 S 20 13 7
[i Find the roots of the quadratic equation 4x%2 +9%+5=0, 2

0
/i: 1 cm.

5000/54
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> I o @l # & mqﬁﬁlﬁ“n%mn‘ﬁfﬂtﬁnm%
@) R P AP F T i
. .
e @ AT
[m-l»n}p“'-l'ﬂ}'$T : e

4
mm%wmﬁ%ﬁﬁﬂﬂ%q{@ﬁﬁmi@ﬁ%%m
(b)

mw%ﬁﬁwmmmhmmmmmm

4

" ;[_4’6]’ﬁﬁaﬁ“_e,10:3%(3(3,-3)3#3%3%31%*@@@%1

for e i oo FEAIR P 4

(d) Frefefea s @roft @ 9EEH T Hf | 4

TI-FRE | 0-20 | 20-40 | 40-60 | 60-80 | 80-100 | 100-120 | 120-149
TS 6" 8 10 12 6 5 3

e) foam it 3x2-2£x+2=0'%ngﬁﬁmaﬁ%ml 4

O (@) 867 a°r255% Wo¥o a Hify
(i) 867 7T 255 % RowWo T ] 249

2. Do any five parts :

(@) If the sum of first m terms of an A.P. is n and the sum of first n terms

of the A.P. is m, then find the sum of (m+n) terms. 4

Prove that the angle between the tangents drawn from an externa

point to a circle is Supplementary to the angle formed by the line

Segment joining the points of contact of tangents at the centre of the
circle.

4

4, 6) divide the line segment joining
6, lﬁ]andB(S’_S}?

of the followip

0-20 20-40 40-60
Frequency 6 8

(b)

() In what ratig does the point ( -
the points A (-

d)”Find the mode

Class-interval

g frequency table -
60-80 | 80-100
10 12 6

https://www.upboardonline.com
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3.

11 .

(¢} Find the rgq
AN ts of .Lh 4
(0 () Find the o © Quadratic equation 352 ~24/6x+2=0-
M
(1) Find th °1867 and 255
¢ HCF of 867 and 255 0+ 2
fyafafea & 40 _Bo
OC=Gp=5®n ap-5¥ & pC %1 9 §1@ #l 6
A 5%t g
)
b C
YT
e '{%I'“"@“Wﬁ%ﬁﬁnﬁwsﬁmw@?ﬁ% 6

AO _BO _1
If oC _OD 2 and AB = 5 cm in the following figure, then find the
value of DC. 'nttps:r’fwww.upboardonline.com 6

A 5cm B

O
D C
OR
_Prove that the tangents drawn from an external point to 2 circle are equal.
’ 6

— 1
(secA—CcoSA)=nA+cotA’ 6

4. fug S R (cosecA-sinA)
al'ﬂaT
- zﬁ!%-ﬁlﬁtﬁlwﬁwsm%laﬁhﬁﬁ
ﬁ;ﬁxﬂaﬁnﬁﬂ:—l#ﬁ@ﬁﬁ .
2 LY o°%|mﬁaﬁﬁmmﬁmﬁ@
%ﬁﬁm#ﬁﬁiﬂﬁmmﬁ _ | | 6
T hifa)
[ Turn over
5000/54
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Prove th i cA-cosA)= :
at (cosec A-sinA)(se€ ) tanA+cotA "

OR
The angle of elevation of the top of a tower from the to
height is 15 metre is 30°. Also the angle of elevatio
tower from the ground of the same house is 60°,
the tower and the distance of the tower from the h

P of a house Whog,
n of the top of the

Then find the height of
ouse.

5. Emmiwﬁﬁmﬁ—ﬁﬁmﬁlmﬁmﬁQwﬁﬁz
Hm%aqwm7ﬂtﬁ%|wmw‘mmw 3
4-57m ) uﬁlﬁ:ﬁm@mw

6

_AYaQy
15%%@3@@@#!%“%“60“@%%%%!%
5 ngamwﬁimmﬁﬁm[néa-m,ﬁzbn) | 6

ubtcr;ds an angle of 60° at the centre

of the circle
the corresponding mingr segment

Find the area of
{1t=3-14,.,"§=1.73]
&

822(HY) - 3,28,000
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